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sin 6=—35,cos 6=45,tan 6=—34csc 6=—53,sec 6=54,cot 6=—43
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sin 6=—45,cos 6=—35,tan 6=43csc 6=—54,sec 6=—53,cot 6=34
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sin 6=-35,cos 6=-45,tan 6=34csc 6=—53,sec 6=—54,cot 6=43
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(il o JS aoud a2 . x, h(X)=2x X, g(x)=cosf(x)=sin :olS 13|

4) f(4n3+16)+f(4113)+£(116)
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0) (heg)(17m3)
1

6) (hef)(11m4)
2
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7) cos 560°
-0.940

8) sin 430°
0.940

9) sin 470°
0.940

10) cos (-380°)
0.940

W w9y olS I3)sin 70° = cos 20° = 0.940
toils o JS doud sl asgaxll

"BC 018 13}, 10 cm o lad cos Jslog « 135 s 5,515 slxall Sl 0
il Lo WS 550 . DC = AB 5 . 16 cm agb 65150 Lwlow
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TA=8tan 1.1=15.72 cm

Sl o8 el 30l aobo (14
55.34 cm®
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